CH106 - CLATTERBRIDGE creative
Installation Instructions

e |

| L Y o] -,

| L \‘_\!\,-‘—L\P"—\‘%I’—dr’r— x1
= \ /" " ROPE BRIDGE ASSEMBLY |

-'W ﬁl;%&#?’é £

U

ASSEMBLED INC L’S x2
CH106 - CLATTERBRIDGE CH106-A
)
N1
x20 ASSEMBLED INC SLAT & CAPS X2 U x4
97.M8X80CSK CH106-C CH106-B

pg1of7  13.09.2023 REV-1 REF: CH106



PARTS REQUIRED

x4 x12 x12

274.M12X200 656.M12 102003-01 - M12

pg20of7  13.09.2023 REV-1 REF: CH106



FOUNDATION DETAILS

S o
‘ ° 0'/ (oo
2 N
q D
o
<
<
CE [ L] o L T _ C ] ij
FGL
‘ J
| — T
|
@ o POST
~ 3
O
S — CONCRETE |
| !

2010

o o
— I

— o

- o 400

‘_
I-
bl

400

pg30f7  13.09.2023 REV-1 REF: 0H106



SURFACING DETAILS

5300

4200

pg4of7 13.09.2023 REV-1

REF: CH106




INSTALLATION INSTRUCTIONS

ATTACH THE UPRIGHT TIMBERS TO THE ASSEMBLED L TIMBERS
USING - CH106-A X2/ CH106-B X4 / 97.M8X80CSK X20

7 A
2
2/
',
.
.
',
,
',
1

97.M8X80CSK X20

ul

ATTATCH CH106-C TO THE TIMBERS
USING CH106-C X2 / 274.M12X230 X4 / 656.M12 X4 / 102003-01-M12 X4

274.M12X230 X4

pg50f7  13.09.2023 REV-1 REF: CH106



INSTALLATION INSTRUCTIONS

ATTATCH ROPE BRIDGE ASSEMBLY TO TIMBER FRAME
USING ROPE BRIDGE ASSEMBLY X1/656.M12 X8 / 102003-01-M12 X8

pg6of7  13.09.2023 REV-1 REF: CH106



ADDITIONAL DIMENSIONS

pg70f7  13.09.2023 REV-1 REF: CH106



